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Instruction : The exam contains 6 pages with 30 questions.
For each answer, write the correct number down
AND fill in the bubble(s) on the answer sheet.

1. Which of the following statements is correct about the radius of
a circle?

(1) Tt is a line segment that connects 2 points on a circle.

(2) A circle has only one radius.

(3) The radius is equal to the diameter multiplied by 2.

(4) 1t is the distance from the center to a point on a circle.

(5) TItis the longest line segment that connects 2 points on a

circle.

2. Which of the following statements is correct?.
(1) Fifteen of 0.1 is 5.

(2) 0.8 is composed of four of 0.2.
(3) 1.2 is composed of two of —.
(4) Seven of 0.1 is 0.07.

(5) Thirty of % is 0.3.

3. Which number in the following [1°s has the highest value?
(1) sL=0ImL
) soomL=[1L
(3) 1L80mL=[ImL
@) 1L800mL=[ImL
(5) 1800mL =1L [mL
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4. The bar graph below represents results from the survey of
students’ dream jobs in Jane’s class. What is the difference in the
number of students between the job chosen by most students and
the job chosen by least students?

Dream job of Students

7

6

)

4

3

2

1

0 I
“No. of
" Students Doctor, | Teacher|Athl Scientist| Painter | Police | Singer
" Dream job

5. Numbers ranging from 3 to 11 is used once for each number to
fill in the spaces so that the sum of three numbers in any row is
equal to that of any column. After filling the correct numbers in

the spaces, find what @) + @ is.

3 10
@ 5
4 ® 6

6. What is the correct number in D?

29464+ |—1879=1754

7. A rectangular cardboard paper with 63cm in width and 48cm in
length is cut to make invitation cards, each with 7cm in width and

4cm in length. How many invitation cards can be made?

—63cme

48 cm

8. A hall has 35 rows of chairs with 43 chairs each row. If students
are sitting on 26 rows of chairs, and there are 28 students in each

row. How many empty chairs are there?
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9. When 3027 of 10 billion, 8 of 1 billion, and 59 of 1 million are
added, the result is a 14-digit number. How many 0’s are there in

this number?

10. How many obtuse triangles (of all sizes) can you find from the

figure below?

11. Complete the following division by filling the correct numbers
in D ’s. Then, find what @ is.

@ 8
32)]19[ ]
6[]
LICC]
LI

0

12. After filling in each O below by either + or x, what is the

lowest value that can be obtained?

200180160140 120100806040201

13. Circles with different radii are drawn as shown in the
following figure. If all circles share the same center, what is the

distance of the diameter of the 20" circle?

3cm

P

14. @ and (® are two counting numbers. When @) is divided by
(®), the quotient is 7 and the remainder is 8. What is the remainder

when @ is divided by 7?

15.If @) 4 ® =@ x (@ + 18) x (b), what is the number in Ll
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16. Let @), () and (©) be the sizes of angles in a triangle with the

following relation:

® (@) is greater than (© by 13°.
® () is greater than (©) by 20°.

Find how many degrees (©) is.

17. The triangle on left is an isosceles triangle. If 100 of these
isosceles triangles are arranged to make the image on right and
none of them overlaps, calculate the perimeter of the complete

figure.

18. Angle afb and angle efb are right angles. The size of angle afc
is 7 times the size of angle bfc, and the size of angle cfe is 3 times

the size of angle cfd. Find the size of angle bfd.
a f e

19. Nadech and Ya-ya calculated 5973 + @([®)(©), where @®)I(©)
is a 3-digit number. However, Nadech misread (©), and the sum
became 6631, while Ya-ya misread () and the sum become 6666.
Find the 3-digit number, @®(©).

20. Find the size of the angle *.
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21. From the figure below, the weight of B boxis@ grams and
that of [] is (® grams. Find the difference between @ and (®

(boxes of the same color have the same weight).

=

L

B lkg 850¢g

22. From the example of an operation given below, if

(45 * 17) *9 gives a 4-digit number, which is @®©(D. What

number does (0) in the hundreds’ place represent?

xampl

O9%6=51 8%3=19 7%x7=49 5%4=19

23.1x2x3=6and?2 x 3 x 4 =24 If the product of three
consecutive numbers is 54|:| D4, what is the sum of these three

consecutive numbers?

24. Four digits, 2, 3, 7, and 8, are used to construct 4-digit
numbers, each with no repetitive digit. If the sum of these 4-digit
numbers is calculated, what would the digit in the ten thousands’

place of the sum be?

25. Six dots are marked with the same interval along a circle. If 3
dots are connected to make a triangle, how many more non-
isosceles triangles can be drawn compared to the number of
isosceles triangles that can be made? (though their shapes and
sizes are the same, if triangles are formed by different set of dots,

they are considered different triangles)

/\

.l

\/

26. A gear is rotating with a constant speed of 60 rounds in 0.8
hour. If the time that the gear takes to rotate one round is
represented (in decimal form) as (@).(b). What number does (b)

represent?

A I@I S2A7 0y win @
wimpia G Y] eafak Ef

xxxxx




T™E szudnuilii 4
27. a}"lﬁ'lﬁ 824 11ag 789 ﬁ?ﬂ%WU']uﬁU a ﬁll']ﬂﬂd"l 1 ﬂglﬂaﬂlﬁHLﬁTﬁu
< 9 o 1 ) ~ A [
a ﬁTNTiﬂlﬂuqﬂWa18ﬂ1u3u "lN“Vi']Wﬁ@ﬂ\‘]GU@Qi]"lu'luﬂll"lﬂﬂf‘]:ﬂﬂﬂ

o Ay A
"l]']u')umu@f]‘ﬂq@]

9 9 o a Y Y o [ 9 [

28. MasNUINFUaoIran laelstiasauav 6 luaiuai
3 I~ Y H loy [ % 4
Tuazaeanss Tae @ Wudiav 910 0 89 9 A lidnuias ludug
o 1 d' 9 Y Y 1 o d‘ d‘ o o

1NSIUAY Naseld dwaavesiauinniganudvau
Ay A 3 ° A ~
Nosngaillu 796410885501 PINIHATINVOINUIUNA IOV

vuias @ 14

61 [&] ] [ [ &

a 9 1 o a ¢ 1 1
29. !LNMQll2ﬂﬂ1WﬂJNﬁNLLﬁﬂ\iiﬂu’Juﬁﬁﬂ!,ﬂ’é)ﬁ ﬁgmazﬂquﬁ

o a 1 Aa I 1 o 2 1
i)m’auﬁmﬂmafﬁumﬂquﬁﬂmﬂu Z Eummu’mﬁmﬂmﬂ{mmﬂqu

v
=1

1 o a L4 1 ]
NITAY LASHATINUVDNINUIUFAANIND TUDITINNGUNDY
Yy 9 Y oA o Y
UUIMDIAUMNUTANNGNNDYHAVIDI

=t

Touadnne I nuAaznauil

o Y

q.lq_

nize

Yyvyveve

Q050 uru
9 LRI

w 1 Uk

939117 a U la

30. Apamsagl ® 631 naz © 2 31 aslu Ovesnszawladagl

2920203
™ I
O N
ilovyunsenangiimaaiads dryualdveauriuiugiideadu

Taailunilads

Y 1 H a g 3PN
M0619 doeglil Inaniunills

)@@
O30

1 A 1 [ 9 09/’ Aaa
le“Vi']'J"Iﬁ']iJ']ﬁﬂ'J"Iﬂg‘lJﬁlull‘UU‘Vllmﬂ@]']\‘iﬂuvlﬂ‘ﬂﬂﬁuﬂﬂﬁ‘ﬁ

auayulag

ﬁ A r&
z %ﬁ KEREI

6
27. 1f 824 and 789 are divided by a counting number, @), that is
greater than 1, their remainders are the same. Among all possible
numbers that @) could be, what is the difference between the

maximum number and the minimum number?

28. A 12-digit number is constructed by choosing six cards as
shown below in which each card can be used twice, and @) is a
digit between 0 and 9 that is different from those on the other
cards. If the different between the largest number and the smallest
number among all possible numbers that could be constructed
from this set of cards is 796410885501, find the sum of all

possible numbers for (@).

€ [ B O E B

29. A pictogram below shows numbers of stickers that each group
has received. The lion group has Z of the number of stickers that

the rabbit group has, and the two groups in the front and the two
groups in the back have the same sum of numbers of stickers. Find

the value of a.

Stickers Received by Each Groups

Front
| ™~
/ qulnt Lion 1
vvvuov . :50 stickers
CT“ atfe D“ ck [ . snckers
'\ ..ov .vuv / : 1sticker

Back

30. You are going to fill in six ® and two O on the blank circles

on a piece of transparency paper as shown below.

CEUH,HL

Any complete pieces obtained by flipping or rotating another are

considered the same.

These two patterns are considered the same.

[0®0, ©O0,
?’ >
lveoe looe

How many different patterns can be made?
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